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Cluster: 0027 mmp; resid: 0.34; r/c: 27/39

x.range

upstream meme PSSM #1; e=0.034
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upstream meme PSSM #2; e=2e+03
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string
operons −200 −100 −1

DNA directed RNA polymerase; subunit L: MMP0261−0.27
thiamine−phosphate pyrophosphorylase: MMP1139−0.33

coenzyme F390 synthetase: MMP0160−0.46
3−isopropylmalate dehydratase: MMP1149−0.51

aspartyl/glutamyl−tRNA amidotransferase subunit A: MMP1510−0.52
hypothetical protein: MMP1196−0.54

pyridoxine biosynthesis protein: MMP0103−0.58
ketol−acid reductoisomerase: MMP0654−0.59

tryptophanyl−tRNA synthetase: MMP1592−0.61
hypothetical protein: MMP1593−0.61

quinolinate synthetase: MMP1242−0.67
seryl−tRNA synthetase: MMP0879−0.69

argininosuccinate synthase: MMP0073−0.81
roup II) similar to Acetylornithine aminotransferase: MMP1101−0.91

ferredoxin: MMP1311−0.91
threonine synthase: MMP0135−0.96

3−isopropylmalate dehydratase small subunit: MMP0136−0.96
oxoglutarate ferredoxin oxidoreductase subunit alpha: MMP0003−1.14

(R)−citramalate synthase: MMP1018−1.16
Ornithine carbamoyltransferase: MMP0553−1.19

D−3−phosphoglycerate dehydrogenase: MMP1588−1.19
IMP cyclohydrolase: MMP1310−1.27

3−dehydroquinate synthase: MMP0006−3.72
Amino acid−binding ACT: MMP1701−4.57

homoserine dehydrogenase: MMP1702−4.57
hypothetical protein: MMP1497−5.87
hypothetical protein: MMP1498−5.87

log10(P) upstream meme1 2 log10(P.clust)=−1.54; 27 seqs; 23 uniq
c(0.5, 2.5)
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